PRLL Qo il dDeCaT e % ~ :- s = " f
swaﬂm \ %) reviewerd@nptel.iitm.ac.in v

T T s i i

NPTEL » A short lecture series on contour integration in the complex plane Announcements About the Course  Ask a Question Progress Mentor

Unit 3 - Introduction to complex variables

Course outline

Week1 Assessment

How to access the portal?
The due date for submitting this assignment has passed. Due on 2019-08-14, 23:59 IST.
As per our records you have not submitted this assignment.

Week0
B - ;
Introduction to complex 1 (1 +1)" is equal to 1 point
variables
- —16e”
@ Introduction to complex
variables.
—16ei""?

® Cauchy Riemann Equations.

® Analytic Functions. 16e'"

® Simple definitions 16612

® Definition of sets, domains, L.
Mo, the answer is incorrect.

theorem on antiderivative. Seore: 0
® Cauchy Gorsat Theorem, Aci%i?:‘*d Answers:
Quiz : Week1 Assessment
2) tan(z) 1s equal to 1 point
Week1 Assessment Solutions ) (2) q P
Important theorems in 24 g=Iz
complex variables glf—g—iz
Branch cuts of the square ere
. E.|:'+€ IZ
root function
gt =p~t
The inverse Laplace g3
transform Mone of the above

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
None of the above

gy 4 1 point

T 1s equal to

(14 — 2i)/5
(14 + 2i)/5
—(14 = 2i)/5

—(14 + 2i)/5

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
(14 + 2i)/5

4} The order of the pole of the function Mz s (for n # 0) 1 point

z

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
n—1

3 The order of the pole of the function w is (for n # 0) 1 point

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
n

B) .. &% —giz 1 point
lim —— is equal to
z=l L

2i

1

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
2i

7} The value of (1 — D)1 - %}" 15 equal to 1 point
I-!'."I'

(2i)"

2.‘1‘

Mo, the answer is incorrect.
acore: 0

Accepted Answers:

2.‘1‘

8 If (1+i)z=(1-iz then z is equal to 1 point
(Note that z is the conjugate of z)

Z=1zZ

Mo, the answer is incorrect.
score: 0

Accepted Answers:
Z=—-iz

9) If |zl =z+ 1+ 2i, where z = a + ib and |z| is the modulus of z, 1 point

then the values for g and b are

a=732b==2
a=-=-32b= =2
a=52b=2

a=-=52,b=2

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
a=1372,b==-2

10) Consider |z| = 1, and z # —1, where |z| is the modulus of z. 1 point
=1
z41 "

Find the values for @ and b where a + ib =

(Note that Re(z) is the real part and Im(z) 1s the imaginary part of z)

fmiz)

a=0b= I+ Relz)

a= 25—

1+ Re(z) *
P Imiz) _  Relz)
T 14Re(z)'" T 14Re(z)
a=——,b=0
1+ Re(z) *

Mo, the answer is incorrect.

Score: 0
Accepted Answers:
e ﬂ: b= fm(z)

14 Kelz)



